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Chapter 6 & 7 Review
Multiple Choice
Idetific the choice that best completes the stalement or answers the question

N\\ 1. Which is NOT true of gas particles?
a. They are farther apan than in a liquid  c.  They are larger than particles than in a

liquid
b. They move more rapidly than in a d. They move in random fashion
liquid
|p 2. As the temperalure of a gns increascs, the rate of motion of gas molecules
a, increases €. remains the same
b. decreases d. varies depending on pressure
b 3. Which of the following is the SI unit for pressure
a. Pa ¢. mm Hg
b.  atm d. Torr
? 4. Which law decribes the relationship between the volume and the temperature of a gas?
a. Charles’s Law c. Boyle's Law
b.  Avogadros’s Principle d. Dalton's Law
A s

If the pressure and number of moles of a gas remains constant, the relationship between the volume and
temperature. in kelvins. of the gas is a(n) __ ;

a. Direcl c. Designated

b. Inverse d. Reactive

8

. IF the tlemperature and number of moles of a gas remain constant. the relationship between the volume
and pressure of the gas in a(n) proportion.
a. Direct c. Designated
b, Inverse d  Reaclive

|

. The conditions of STP are...
a. OKand | atm ¢. 0 degrees Celsius and | atm
b. 0K and 1 kPa d. 0 degrees Celsius and 1 kPa

wl #. According lo the kinetic moleuclar theory, molecules of an ideal gas are

8. constanily moving, in & straight line c.  Altematley moving and stopping
until a collision occurs

k. Constanlly moving in orbits around d. Constantly changing direction to avoid
each other collisions

Av]

in collisions between ideal gas molecules, the totatl kinetic energy of the molecules...
a.  Decreases slightly c. Increases by a large amount
b, Increases slightly d. Remains the same
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Problem

10. A chemistry student took & reading of 176 mm Hg from the barometer. Convert this reading to kPa and

o 0.23abm| j01.3 €Pa

.Glx.% ={0.23 atm I iatm
Tworm by

=l 233 atm

11. The toatl pressure of a mixture of three dry gases is 95.2 kPa. That partial pressure of oxygen is 30.1
kPa and the aprtial pressure of helium is 2.1 kPa. What s the partial pressure of the third gas. nitrogen?

P & (7, 0 Ty, o ﬂz«

Ill;m?u_n = ?W W\”U.Q.lﬂ

45.2 ¥Pa > 3ol KFat Al KPa + Py

12, A container of carbon dioxide has a velume of 340.0 cubic cenlimeters at a temperature of 22 degrees
Celsius. IT the pressure remains constant, what is the volume at 44 degrees Celsius.
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20, CHALLENGE: Consider the following equation: |

18. Because some gases are colored. their diffusion can be observed. Samples of bromine gas, which is brown,
and an unkown purple gas are placed in identical Wbes. In the time it takes the bromine 1o diffuse 1.00 m,
the unkonwn gas diffuses 0.7% m. What is the melar mass of the unknown gas? 2 HNO3 (aq} * Na2CO3 (aq) --> 2 NaNO3 (aq) + CO2 (g) *+ H20 (1) _

w.‘ a fc./.’Al ﬂ 15 om .\/ 7.} by The experiment was performed and measured at 755 torr of carbon dioxide and at 27 degrees Celsius.
.ﬂ_ = . 00om 14, B o 1 Am 0 T19m = ..\lAlllI...l.\W .A& If we started with 30 grams of HNO3, how many L of carbon dioxide are fdrmed?
159, iC |
M2 18985 mf ™M, > 7 309 MNGs) | onoPHNO LAme L0z = 5 ‘ot €O,
B | M, = 256 Imek Fozg Moy | amd KOy
2 ¥.
5155 torcl o\ oG (699 am)(V) = (o a4 MOS0 (Beer)
T o s S —=
19, Vi contai ic acid. CH3COOH. A ia is NH3. Both liquids will v i d diffuse into "
E_n,._”w“_q.: E_Hnsaﬂ_.ﬂ.ww_nﬂuﬂwznz are opened _ﬂ_wﬂ HM.:““?Q of nwn_.. _.nm_,“_uwzo.“_ u.uﬁﬂmﬂqﬂﬂ aw. uwmnaﬂ.qo_.: O A e higs _q_ NS S =) J - CO. ﬁ
you, which will you smell first? Explain your answer. Au_% If we o..-_.un_zqnhum.o L of water, whal is the parfial pressure of water in kPa? We are still starting with
grams o b
N1l all Grelt  Ligst DuLse e .
s Wl b Fiest pec ey 306 MO et N0 [T Ho0 oy o0 w,0
f&iom* 40-S Wil howe Hre quut T ema N0 5 | amk
efhngron / diffusion rote
5 (3.a0= Co-3deilo.0821)(3c0 =)
P 2 oY adm
N = O. .w.lr_ q.q(ob (¢) What will be the total pressure of the carbon dioxide and water vapor on the container?
Vo= A Pror = _,vnh.ﬂ + ._Uiuo
v = 7
R Pc, * 985 twcr ec ©.99Q atm
— =
Paso = .04 o

O.a6G + 204 atm = P

s / Pror = 3803 &,34







